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DIRECTIONS:

Read the following information carefully and answer the questions given below it :
[. In a family, there are six members A, B. C, D, E and F.
Il. A and B are a married couple, A being the male member.

[ll. D is the only son of C, who is the brother of A.

IV. Eis the sister of D.
V. B is the daughter-in-law of F, whose husband has died.

Q1. How is F related to A ?
a) Mother

b) Mother-in-Law

c) Sister

d) Sister-in-Law

e) None of these

Q2. How is E related to C ?
a) Sister

b) Aunt

c) Cousin

d) Daughter

e) Mother

Q3. WhoisCtoB?
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a) Brother

b) Son-in-Law

c) Nephew

d) Brother-in-Law

e) None of these

Q4. How many male members are there in the family ?
a) One

b) Four

c) Three

d) Two

e) Five
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Q5. How is F related to C ?
a) Mother-in-Law

b) Aunt

c) Mother

d) Sister-in-Law

e) Sister

Q6. Shobha is the niece of Ashish. Ashish's mother is Priya. Kamla is Priya's
mother. Kamla's husband is Hari. Krishna is the mother-in-law of Hari. How is
Shobha related to Hari ?

a) Daughter
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b) Great grandson's daughter
c) Grandniece

d) Great granddaughter

DIRECTIONS:

Study the following information carefully and answer the questions given below it.

i. In a family of six persons A, B, C, D, E and F there are two married couples.
i. D is grandmother of A and mother of B.

iii. Cis wife of B and mother of F.

iv. Fis the granddaughter of E

Q7. What is Cto A?
a) mother

b) grandmother

c) Daughter

d) cannot be determine

e) None of these

Q8. How many male members are there in the family?
a) three

b) two

C) one

d) cannot be determine

e) None of these

Q9. Who among the following is one of the couples?
a) EB

b) DE



c) CD
d) cannot be determine

e) None of these

Q10. Which of the following is true?
a) D has two grand sons

b) A is sister of F

c) A is brother of F

d) B has two daughters

e) None of these

DIRECTIONS:

Study the following information carefully to answer the questions that follow:

A is mother of D who is father of G.

B is grandfather of E and husband of A.

D who has only two children is brother of C.
A has two children both of same gender.

J is aunt of H who is sister of G.

0P

Q11. What is the relation between J and D?
a) J is mother of D

b) J is sister of D

c) Cannot be determined

d) Jis aunt of D

e) None of these

Q12. What is the relation between C and E?
a) C is father of E

b) C is brother of E



c) Cannot be determined
d) Cis uncle of E

e) None of these
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Q13. At least how many male members can be predicted by the given relations?
a) 3
b) 2
c)5
d) 4

e) None of these

Q14. P’s father Q is B’s paternal uncle and A’'s husband M is P’s paternal uncle.
How is A related to B?

a) Mother

b) Aunt

c) Cousin

d) data inadequate

e) None of these

Q15. Six members of a family namely A, B, C, D, E and F are travelling together.
‘B’ is the son of C but C is not the mother of B. A and C are married couple. E is
the brother of C. D is the daughter of A. F is the brother of B. How many male
members are there in the family?

a) 3
b) 1
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c)4
d) 2
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Answers to the above questions :

Q1. Answer: (a)

[Note:A is a male and married to B. So, A is the husband and B is the wife.C Is the brother of
A. D is the son of C.E, who is the sister of D will be the daughter of C.B is the daughter —in-
law of F whose husband has died means F is the mother of A.]

Clearly,F is the mother of A.

Q2. Answer: (d)

[Note:A is a male and married to B. So, A is the husband and B is the wife.C Is the brother of
A. D is the son of C.E, who is the sister of D will be the daughter of C.B is the daughter —in-
law of F whose husband has died means F is the mother of A.]

Clearly ,E is the daughter of C

Q3. Answer: (d)

[Note:A is a male and married to B. So, A is the husband and B is the wife.C Is the brother of
A. D is the son of C.E, who is the sister of D will be the daughter of C.B is the daughter —in-
law of F whose husband has died means F is the mother of A.]

C is the brother of A who is the husband of B. So,C is the brother-in-law of B
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Q4. Answer: (c)

[Note:A is a male and married to B. So, A is the husband and B is the wife.C Is the brother of
A. D is the son of C.E, who is the sister of D will be the daughter of C.B is the daughter —in-
law of F whose husband has died means F is the mother of A.]

A is a male .B, the wife,is female .C, the brother , is male . D ,the son , is male E, the sister ,Is
female .F, the mother , is a female . so, F is the mother of C

Q5. Answer: (c)

[Note:A is a male and married to B. So, A is the husband and B is the wife. C Is the brother of
A. D is the son of C.E, who is the sister of D will be the daughter of C.B is the daughter —in-
law of F whose husband has died means F is the mother of A.]

F is the mother of A and C is the brother of A.So,F is the mother of C

Q6. Answer: (d)

[Note:A is a male and married to B. So, A is the husband and B is the wife. C Is the brother of
A. D is the son of C.E, who is the sister of D will be the daughter of C.B is the
daughter—in—law of F whose husband has died means F is the mother of A.]

Shobha is the niece of Ashish is the uncle of Shoba. Now Priya is Ashish’s mother.

So, Priya is the grandmother of Shobha. Hari is Priya’s father. So, Shobha is the great-
granddaughter of Hari
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Q7. Answer: (a)

C is mother of A

Q8. Answer: (a)

C is mother of A

three

Q9. Answer: (b)
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C is mother of A

DE

Q10. Answer: (c)

blood relation puzzel type dqal4d

Q11. Answer: (e)
H is sister of G and G is child of
so H and G children of

J is aunt of H. so J can be wife of D‘s brother C or J can be sister of D‘s wife. In both cases J
will be sister in law of D.

Q12. Answer: (a)

B and A are husband wife, who have 2 children of same sex. A is mother of D who is father of
G. this means both children are males. D is brother of C, so C and D both are sons of A and

D also has two children — G and H. if B is grandfather of E then C must be father of E.

Q13. Answer: (a)



B, C, and D are certainly males H and J are females. Gender of E and G not known.

Q14. Answer: (a)

mother

Q15. Answer: (c)

C is the father B. A is the wife of C. B, E and F are sons of A and C. D is a girl. Male
members b A, B, E and F.
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